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INSTRUCTIONS:
A) Answer Question in Section A and any THREE questions in Section B.
Each question is allocated 25 marks.

B) If you answer MORE THAN THREE questions in Section B, cross the answers not to be marked as the first three questions shall be marked.

C) Follow the other University examination regulations.



SECTION A – Compulsory question to be answered by all candidates
Write the letter for the correct answer in your answer book 

Question 1
I) During the inventory count you perform test counts agreeing inventory quantities on client’s count sheets to the inventory physically present in their warehouse. Which financial statement assertion does this procedure address?

A) Rights & obligations 		C)  Existence      
B) Completeness    			D)  Accuracy, valuation & Allocation
  
II) Which control most likely will be effective in preventing the sales department from maximizing the sales volume at the expense of high bad debt write-offs?

A) Employees responsible for authorizing sales and bad debts write offs are denied access to cash.
B) Goods dispatch notes and sales invoices are matched by an employee who does not have the authority to write off bad debts
C) Employees involved in credit granting are separate from the sales function.
D) Subsidiary accounts receivables records are reconciled to the control account by an employee independent of the authorization of credit.

III) While reviewing a client’s purchases cycle, you identified that goods received notes for raw material purchases are not sequentially numbered. Which of the following would have the highest of risk of material misstatement, due to this deficiency?

A) Rights and obligations of inventory		C) Existence of inventory
B) Valuation of payables				D) Completeness of payables

IV) As part of your audit of the procurement system, you have recommended that the goods receiving section ensures that goods received are valid business purchases, by matching all deliveries to authorised purchase orders before issuing goods receiving notes. Which appropriate test of control will confirm that the control is operating effectively?

A) For a sample of purchase orders, check that there is a matching goods received note.
B) Check that the numerical sequence of purchase orders is complete.
C) Check that the numerical sequence of goods received notes is complete.
D) For a sample of goods received notes check there is an authorised purchase order.

V) Which TWO of the following should be included in an audit engagement letter?

       (i)  Objective and scope of the audit	     (iii)  Management’s responsibilities
      (ii)  Results of previous audits		     (iv) Need to maintain professional scepticism
      A) (i) and (iii)	       B) (i) and (ii)	         C) (ii) and (iv)		 D) (iii) and (iv)

VI) During the course of the audit of Tovakumain Ltd, a suspicious cash transfer has been identified. The audit team has reported this to the relevant firm representative as a potential money laundering transaction. Which of the following statements is true regarding the confidentiality of this information? 

A) Details of the transaction can only be disclosed with the permission of Tovakumain Ltd.
B) If there is a legal requirement to report money laundering, this overrides the principle of confidentiality.
C) An external auditor is not permitted to disclose details of the suspicious transaction as the information has been obtained during the course of the audit.
D) In order to maintain confidentiality, an external auditor should report its concerns anonymously.

VII) Which of the following substantive procedures should an auditor perform to verify the  occurrence of revenue in the statement of profit or loss during final audit? 

i) Compare the reported revenue figure to the budget and to the previous year, investigating any significant differences
ii) Select a sample of goods dispatched notes (GDNs) and agree to invoices in the sales journal
iii) Select a sample of invoices from the sales journal and agree to GDNs
iv) Select a sample of invoices and recalculate the invoiced amount agreeing to price list 

A) (i) and (ii) 	   B)  (i) and (iii) 	   C)  (ii) and (iv) 	       D)  (iii) and (iv)

VIII) During an overall review of the financial statements of Aya Ltd for the year ended 31 December 2022 in May 2023, there is an uncorrected misstatement relating to faulty goods in closing inventory. The audit team is of the view that the cost of this inventory exceeded its net realisable value by Shs 29 million. The directors of Aya Ltd dispute the audit team's figures and believe that the realisable value of the inventory still exceeds its cost. Profit before tax for the year was Shs 1,314 million (2021: Shs 1,209 million). Which of the following correctly describes the effect of this matter on the auditor's report?

A) Unmodified opinion with no further disclosure
B) Unmodified opinion with disclosure in an emphasis of matter paragraph
C) Qualified opinion due to material misstatement
D) Qualified opinion due to inability to obtain sufficient appropriate audit evidence 

IX) [bookmark: _Hlk135114227]Which of the following substantive procedures are performed to verify valuation of property at the year end?
i) Review repairs and maintenance account for evidence of items of capital nature
ii) Recalculate the depreciation charge for a sample of assets ensuring that it is being applied consistently and in accordance with IAS 16 PPE
iii) Review physical condition of non-current assets for any signs of damage
iv) Ensure disposals are correctly accounted for and recalculate gain/loss on disposal

A) (i), (ii), (iii) & (iv)     B)   (i), (ii) & (iii)     C)    (ii) & (iii)     D)    (ii), (iii) & (iv)

X) Which of the following are benefits of carrying out a trade receivables confirmation? 
i) It provides evidence from an independent external source. 
ii) It provides sufficient appropriate audit evidence over all relevant balance assertions.
iii) It improves audit efficiency as all customers are required to respond. 
iv) It improves the reliability of evidence as the process is under the control of the auditor.

A)   (i), (ii) & (iii)	        B)    (i), (ii) & (iv)	  C)     (i) & (iii)          D)     (i) & (iv) 

XI) You are an audit senior and you have identified the following in the purchases and payroll systems of Mapeera Ltd. Before payroll payments are made, the finance director reviews the bank transfer list and signs to authorise the payments to be made. Which of the following control objectives does this address? 

A) To ensure payroll is classified correctly
B) To ensure employees are paid for the correct hours 
C) To ensure only valid employees are paid
D) To ensure employee’s salaries have been calculated correctly  

XII) Which TWO of the procedures included in the audit program describe substantive procedures to confirm the completeness and accuracy of an entity’s payroll expense? 

i) For a sample of employees recalculate the gross and net pay and agree to the payroll records.
ii) Perform a proof in total of wages and salaries and compare the expected total to actual wages and salaries in draft financial statements.
iii) Select a sample of hourly paid employees and verify hours worked have been authorised by their line manager.
iv) Review the payroll report for evidence of authorisation by the financial director before any payments are made to employees.

    A)     (ii) and (iii)         B)    (iii) and (iv)         C)     (i) and (ii)       D)    (i) and (iv)


XIII) Which of the following statements BEST describe the purpose of using analytical procedures during the planning stage of an external audit? 

i) To help form an overall conclusion on the financial statements
ii) To obtain relevant and reliable audit evidence
iii) To assist with identification of risks of material misstatement
iv) To assist in identifying unusual transactions and events of a client

A)     (iii) & (iv)       B)      (i), (ii) & (iv)	     C)      (ii) & (iii)        D)     (i), (ii) (iii) & (iv)  



Section B	    Answer any THREE questions from this section

Question 2

a) Briefly explain FIVE elements of an entity’s control environment.                     (5 marks)

b) [bookmark: _Hlk135132129]Victoria Co makes mattresses that are sold to customers in East Africa. You are an audit supervisor reviewing the internal controls documentation of Victoria Co in preparation for the interim audit of the purchases and sales system for the period ending 31.12.2022.

Receipts of raw materials and goods from suppliers are processed by the warehouse team who agree the delivery to the purchase order, check the quantity and quality of goods and complete a sequentially numbered goods received note (GRN). The GRNs are sent to the finance department daily. On receipt of the purchase invoice from the supplier, Tanga, the purchase ledger clerk, matches it to the GRN and order and the three documents are sent for authorisation by the appropriate individual. Once authorised, the purchase invoices are input in the purchase ledger by Tanga, who utilises document count controls to ensure the correct number of invoices has been input. The company values its inventory using standard costs that were reviewed approximately 18 months ago.

Sales ledger clerks of Victoria Co carry out credit checks on new customers prior to being accepted and then set their credit limits. Sales staff visit retail customers’ sites personally and orders are completed using a four-part pre-printed order form. One copy is left with the customer, a second copy is returned to the sales ordering department, the third is sent to the warehouse and the fourth to the finance department. Each sales order number is based on the sales person’s own identification number in order to facilitate monitoring of sales staff performance. Customers are given payment terms of 30 days and most customers pay their invoices by bank transfer. Each day Lookman, an accountant, posts the bank transfer receipts from the bank statements to the cash book and updates the sales ledger. On a monthly basis, he performs the bank reconciliation. 

     In respect of the internal controls of Victoria Co:
i) Identify and explain FIVE deficiencies;					          (5 marks)
ii) Recommend a control to address each of these deficiencies; and 	          (5 marks)
iii) Describe a TEST OF CONTROL the external auditors should perform to assess if each of these controls, if implemented, is operating effectively to reduce the identified deficiency. 									         (5 marks)

Note: Prepare your answer using three columns headed Control deficiency, Control recommendation and Test of control respectively. 

c) Describe FIVE substantive procedures the auditor should perform to obtain sufficient appropriate evidence in relation to revenue of Victoria Co in the statement of profit or loss for the period ended 31 December 2022.	                    	                               (5 marks)
								        (Total: 25 marks)

Question 3
a) Identify FOUR main areas that are included in the audit strategy document for a client and for each area provide an example relevant to an audit.	                               (5 marks)

b) Describe FIVE key procedures auditors should carry out during the attendance at the inventory count by the client at the year end. 			                    (5 marks)

a) Bunyoro Kumbucha Co (BK) manufactures kumbucha drinks popular in Uganda and its year end is 31 December 2022. It is 1 October 2022 and as an audit manager of Bright & Co you are reviewing the minutes of the planning meeting you attended with the engagement partner and finance director as you prepare the audit strategy document for the audit of BK.

BK's trading results have been strong this year and the company is forecasting revenue of Shs 850 million, which is an increase from the previous year. The company has invested significantly in the kumbucha production process at the factory. This resulted in expenditure of Shs 50 million on updating, repairing and replacing a significant amount of the machinery used in the production process. As the level of production has increased, the company has expanded the number of warehouses it uses to store inventory. It now utilises 15 warehouses; some are owned by BK and some are rented from third parties. There will be inventory counts taking place at all 15 of these sites at the year end. 

A new accounting general ledger has been introduced at the beginning of the year, with the old and new systems being run in parallel for a period of two months. In addition, BK has incurred expenditure of Shs 45 million on developing a new brand of kumbucha. The company started this process in January 2022 and is close to launching its new product. 

As a result of the increase in revenue, BK has recently recruited a new credit controller to chase outstanding receivables. The finance director thinks it is not necessary to continue to maintain an allowance for receivables and so has released the opening allowance of Shs 15 million. 

The finance director stated that there was a problem in July in the mixing of raw materials within the production process which resulted in a large batch of Kumbucha drinks tasting different. A number of these products were sold; however, due to complaints by customers about the flavour, no further sales of these goods have been made. No adjustment has been made to the valuation of the damaged inventory, which will still be held at cost of Shs 10 million at the year end. 

As in previous years, the management of BK is due to be paid a significant annual bonus based on the value of year-end total assets.

Required:
Using the minutes provided, identify and describe FIVE audit risks and explain the auditor's response to each risk, in planning the audit of BK. Note. Prepare your answer using two columns headed Audit risk and Auditor's response respectively.    (15 marks)

										                  (Total: 25 marks)
Question 4
You have been assigned by your finance director to make a presentation to the new Audit Committee of your company on the following topics.  

a) Explain FIVE limitations of an audit of financial statements.		          (5 marks)
b) Explain FIVE rights of an external auditor of a company in Uganda.	          (5 marks)
c) Explain FIVE fundamental principles of the codes of ethics for accountants issued by ICPAU and IFAC and give an example of each principle.			          (5 marks)

d) Describe FIVE substantive procedures used to verify rights and obligations of property. 
          (5 marks)
e) Describe FIVE audit procedures in assessing whether an entity is a going concern according to IAS 570 Going concern. 					          (5 marks)
        (Total: 25 marks)

Question 5
You are an audit supervisor for Goodman Co is due to commence shortly. The draft financial statements for year ended 31 December 2022. You have noted the following: 

a) In February 2022, the company updated the useful lives, residual values, depreciation rates and methods for many categories of property plant and equipment. This resulted in the depreciation charge of some assets changing significantly for this year. 

b) Goodman’s inventory is stored in 12 warehouses across the country and are expected to contain material levels of inventory at the year end.  Each inventory count will be supervised by a member of Goodman’s internal auditor on 31 December 2022, when all movements of goods in and out of the warehouses will cease. 

c) Goodman’s trade receivables ledger is comprised of a large number of customers. In previous years, the audit team has undertaken a positive trade receivables confirmation on year-end balances. Due to the low customer response rate a decision has been made that for the current year audit a confirmation will not be performed.

d) During last year's audit of bank and cash, significant cut-off errors were discovered with a number of post year end cheques being processed prior to the year end to reduce payables. The audit engagement partner has asked that the bank reconciliation is comprehensively audited. 
 
Required:
Describe substantive procedures the auditor should perform to obtain sufficient and appropriate audit evidence in relation to:
a) Depreciation of property, plant and equipment. 				          (6 marks)
b) Inventory after the count.							          (6 marks) 
c) Trade receivables								          (6 marks)
d) Bank reconciliation								          (7 marks)                                                                                   									                   (Total: 25 marks)
Question 6

a) Briefly explain how the following conclusions on going concern review at the end of the audit affect the audit report:

i) Going concern basis of accounting is appropriate but material uncertainty is adequately disclosed in financial statements.
ii) Going concern basis of accounting is appropriate but material uncertainty is not adequately disclosed.
iii) Use of going concern basis of accounting is inappropriate in financial statements.
iv) Management is unwilling to make or extend its assessment when requested by the auditor.
(4 marks)

b) Using examples, distinguish between adjusting and non-adjusting events in ISA 560 Subsequent Events and explain how they are accounted for in financial statements.
         (5 marks)

c) Ssabagabe & Co has identified key issues identified during the final audit of two clients. 

The financial statements of Kigwa Leero Ltd for the year end 31 December 2022 show revenue of Shs 282 million, receivables of Shs 56 million and profit before tax of Shs 48 million. Testing of receivables indicated that no amount had been paid by a customer owing Shs 3.5 million at the year-end as they were disputing the quality of certain goods received from the company. The chief finance officer of Kigwa Leero is confident the issue will be resolved and no allowance for receivables was made for this balance.

[bookmark: _GoBack]Move Forward Ltd is a new client whose year-end was 31 December 2022. The firm was only appointed auditors in February 2022. The fieldwork stage for this audit is currently ongoing. The inventory count at Move Forward’s warehouse was undertaken on 31 January 2023 and was overseen by the company’s internal audit department. Neither Ssabagabe & Co nor the previous auditors attended the count. Detailed inventory records were maintained but it was not possible to undertake another full inventory count subsequent to the year end. The draft financial statements show a profit before tax of Shs 240 million, revenue of Shs 1,010 million and inventory of Shs 51 million.

Required:
i) Explain the matters which should be discussed with management about each issue above including whether the financial statements require amendment.

ii) Explain the impact on the auditor’s report should the issue remain UNRESOLVED.

 (8 marks for the discussion of each matter and its impact)
        (Total: 25 marks)


End of question paper
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